# CONTRACT



**Townsquare Media Boise** 827 E. Park Blvd Suite 100 Boise, ID 83712 (208) 344-6363

And:

Mary Hagedorn for Lt. Governor 5285 W. Ridgeside Street Meridian, ID 83646

INACI					
	Contract / Re	vision	T	Alt Order #	
	492579	1	- 1		
Advertiser			Orio	ginal Date	/ Revision
Marv Hagedorn for Lt	. Governor		0.	4/09/18	/ 04/09/18
Contract Dates	Estimate #				
04/12/18 - 05/15/18					
Product					
April-May Radio Schee	dule				
11 13 15 16 16 16 16 16 16 16 16 16 16 16 16 16	Billing Cycle	Billing	Cale	ndar	Cash/Trade
	EOM/EOC	Calend	dar		Cash
	Property	Accou	nt Ex	recutive	Sales Office
	KAWO-FM	Dustin	Kuc	k_W05540	Local Boise
	Special Hand	lina			

Special Handling Demographic Households Advertiser Code Product 1/2 Agy Code Agency Ref Advertiser Ref

KAWO-	FM - 492579A		Imp./Plays			
*Line	Start Date End Date Description		Booked	Rate R	ate Type	Amount
N 1	04/12/18 04/13/18 :30 Audio Spot (CPP)		6	\$3.00	CPP	\$18.00
N 2	04/16/18 04/20/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 3	04/23/18 04/27/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 4	04/30/18 05/04/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 5	05/07/18		15	\$3.00	CPP	\$45.00
N 18	05/14/18		6	\$3.00	CPP	\$18.00
	/	Totals	72			\$216.00
KIDO-A	M - 492579A 🗸		Imp./Plays			
*Line	Start Date End Date Description		Booked	Rate R	ate Type	Amount
N 6	04/12/18 04/13/18 :30 Audio Spot (CPP)		6	\$3.00	CPP	\$18.00
N 7	04/16/18 04/20/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 8	04/23/18 04/27/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 9	04/30/18 05/04/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 10	05/07/18		15	\$3.00	CPP	\$45.00
N 17	05/14/18		6	\$3.00	CPP	\$18.00
	/	Totals	72			\$216.00
KXLT-F	M - 492579A		Imp./Plays			
*Line	Start Date End Date Description		Booked	Rate R	ate Type	Amount
N 11	04/12/18 04/13/18 :30 Audio Spot (CPP)		6	\$3.00	CPP	\$18.00
N 12	04/16/18 04/20/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 13	04/23/18 04/27/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 14	04/30/18 05/04/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 15	05/07/18 05/11/18 :30 Audio Spot (CPP)		15	\$3.00	CPP	\$45.00
N 16	05/14/18		6	\$3.00	CPP	\$18.00
		Totals	72		***************************************	\$216.00

(\* Line Transactions: N = New, E = Edited, D = Deleted)



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712 (208) 344-6363

Contract / Revision	Alt Order #	
492579 /		

Advertiser Original Date / Revision

Marv Hagedorn for Lt. Governor 04/09/18 / 04/09/18

Contract Dates Product Estimate #

04/12/18 - 05/15/18 April-May Radio Schedu

Time Peri	od	Gross Amount	Net Amount
04/01/18	-04/30/18	\$117.00	\$117.00
04/01/18	-04/30/18	\$117.00	\$117.00
04/01/18	-04/30/18	\$117.00	\$117.00
05/01/18	-05/15/18	\$99.00	\$99.00
05/01/18	-05/15/18	\$99.00	\$99.00
05/01/18	-05/15/18	\$99.00	\$99.00
Totals		\$648.00	\$648.00

*Line Ch Start		ate Description	on	Start/End Time	Days	Spots/ Length Week	Rate Rtn	Type S	pots	Amount
N 1 KAWO 04/12/  Start Date Week: 04/09/18 Week: 04/16/18 Week: 04/23/18 Week: 04/30/18 Week: 05/07/18 Week: 05/14/18	/18 05/15// End Date 04/15/18 04/22/18 04/29/18 05/06/18 05/13/18 05/20/18	18 M-F Prime <u>Weekdays</u> 33 33333 33333 33333 33333 33	Rotator Spots/Week 6 15 15 15 15 6	6A-7P Rate \$52.00 \$52.00 \$52.00 \$52.00 \$52.00 \$52.00	Rating 0.00 0.00 0.00 0.00 0.00 0.00 0.00	:30		NM	72	\$3,744.00
					Totals	0.00			72	\$3,744.00

Time Period # of Spots Gross Amount Net Amount 04/01/18 -04/30/18 39 \$2,028.00 \$2,028.00 05/01/18 -05/15/18 33 \$1,716.00 \$1,716.00 Totals 72 \$3,744.00 \$3,744.00

N 1 KIDO 04/12/18 05/15/18 M-F Prime Rotator 6A-7P :30 NM 72 \$3,02 Neek: 04/09/18 04/15/18 04/22/18 33333- 15 \$42.00 0.00 Neek: 04/30/18 05/06/18 33333- 15 \$42.00 0.00 Neek: 04/30/18 05/06/18 33333- 15 \$42.00 0.00 Neek: 04/30/18 05/06/18 33333- 15 \$42.00 0.00 Neek: 05/07/18 05/13/18 33333- 15 Neek: 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/13/18 05/07/18 05/	*Line Ch Start [		ate Description	n	Start/End Time	Davs	Spots/ Length Week	Rate Rtn	TyneS	nots	Amount
	N 1 KIDO 04/12/	18 05/15/1 End Date 04/15/18 04/22/18 04/29/18 05/06/18 05/13/18	8 M-F Prime <u>Weekdays</u> 33 33333 33333 33333	Rotator Spots/Week 6 15 15	6A-7P Rate \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	Rating 0.00 0.00 0.00 0.00 0.00 0.00		Nate Mil		_	\$3,024.00
VIEW 0074110 00120110 00	Week: 05/14/18	05/20/18	33	6	\$42.00	0.00	0.00			72	\$3,024.00

Time Period	# of Spots	Gross Amount	Net Amount
04/01/18 -04/30/18	39	\$1,638.00	\$1,638.00
05/01/18 -05/15/18	33	\$1,386.00	\$1,386.00
Totals	72	\$3,024.00	\$3,024.00

KXLT-FM - 492579D	Start/End	Spo	ts/	
*Line Ch Start Date End Date Description	Time	Days Length We	ek Rate Rtn Type Spots	Amount
N 1 KXLT 04/12/18 05/15/18 M-F Prime Rotator	6A-7P	:30	NM 72	\$4,104.00

(\* Line Transactions: N = New, E = Edited, D = Deleted)

Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions. printed or otherwise contracts, insertion orders, copy instructions or any correspondence when such conflict with the above terms and conditions. Two week advance cancellation notice is required unless otherwise specified.



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712 (208) 344-6363

Contract / Revision	Alt Order #
492579 /	

Advertiser Original Date / Revision

Marv Hagedorn for Lt. Governor 04/09/18 / 04/09/18

 Contract Dates
 Product
 Estimate #

 04/12/18 - 05/15/18
 April-May Radio Schedu

<b>KXLT-FM - 492</b> *Line Ch Start		ate Description	on	Start/End Time	Days	Spots/ Length Week	Rate Rtn	Type Spots	Amount
Start Date Week: 04/09/18	End Date 04/15/18	Weekdays	Spots/Week 6	Rate \$57.00	Rating 0.00				
Week: 04/16/18	04/22/18	33333	15	\$57.00	0.00				
Week: 04/23/18 Week: 04/30/18	04/29/18 05/06/18	33333 33333	15 15	\$57.00 \$57.00	0.00			i i	
Week: 05/07/18	05/13/18	33333	15	\$57.00	0.00				
Week: 05/14/18	05/20/18	33	6	\$57.00	0.00				
Holy Con Control of the Control					Totals	0.00		72	\$4,104.00

Time Period # of Spots **Gross Amount** Net Amount 04/01/18 -04/30/18 39 \$2,223.00 \$2,223.00 05/01/18 -05/15/18 33 \$1,881.00 \$1,881.00 72 Totals \$4,104.00 \$4,104.00 0.216 288 \$11,520.00 **Contract Totals** 

Signature:	Date:	
		No. of the Control of

# Committee to Elect Mary Hagedorn for Lt. Governor

COMMITTEE TO ELECT MARV HAGEDORN FOR LT. GOVERNOR April 11th through May 15th

XID 560, KM0 555, RED1545         3-4 times a day. 30 second ads         3-4 times a day         3-6 times a day         3-4 times a day         3-6 times a day         3-4 times a day         3-6 times a day         3-4 times a day         3-6 times a day <th>Treasure Valley</th> <th>Mon</th> <th>Tues</th> <th>Wed</th> <th>Thurs</th> <th>Fri</th> <th>Totals</th>	Treasure Valley	Mon	Tues	Wed	Thurs	Fri	Totals
3-4 times a day	KIDO \$45, KBOI \$45 KXLT \$60, KAWO \$55, KQFC \$15	3-4 times a day :30 second ads	3-4 times a day :30 second ads	3-4 times a day	3-4 times a day	3-4 times a day	
Ille S4S, KXLY  Ill. S4S, XXLY							\$17,352
alley 3-5 times a day :30 second ads 3-5 times a day 3-5 times a day 3-5 times a day 3-5 times a day 3-6 times a day 3-6 times a day 3-7526/, KLIX 3-7518 3-7 times a day 3-7	orthern Idaho QNT Talk \$45, KXLY 14 KOZE \$12	3 times a day :30 second ads	3-4 times a day :30 second ads	3-4 times a day :30 second ads	3-4 times a day :30 second ads	3-4 times a day :30 second ads	
S-6 times a day :30 second ads   3-5 times a day   S-6 times a d	udget						\$5,664
Idaho 3-4 times a day :30 second ads 3-4 times a day 3-6 times a day 3-7 times	lagic Valley EZI \$30/\$26/, KLIX 20,\$25, \$18	5-6 times a day :30 second ads	3-5 times a day	5-6 times a day :30 second ads	5-6 times a day :30 second ads	5-6 times a day :30 second ads	
et \$22,904.70 currently budget of inable of Radio.	udget						\$4,039
specient \$2,904.70 currently Plus a total budget of stagonard stag	astern Idaho ID \$24,	3-4 times a day :30 second ads	3-4 times a day	3-4 times a day	3-4 times a day	3-4 times a day :30 second ads	
s percent hypercent hyperc	udget						\$1.992
nture for Rodio	10% percent ooking/placement or all radio.	\$2,904.70 currently	Plus a total budget of \$29,047 currently		,		Final Total: \$31,951.70
	ignature for Radio uy:						

WARNING HACEDORN	<del>96-7197</del> 34762	150
MARVIN F. HAGEDORN	DATE APR 9, 20	
PAYTOTHE TOWNSquare Aledia & Elevent Houseard, Live hundred	30 ise \$ \$	11,520 000 DOLLARS 1 March Parkers District Parkers
CHASE O  JPMorgan Chase Bank, N.A. www.Chase.com  MEMO Roclio	1/10	M <sup>o</sup>

# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

☐ FEDERAL CANDIDATE

☐ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	d Location:	KT	-00	Date:	/	
So	ise,IK	) - K	XLT	4	-9/18	
l,	Mary	Hageo	lorn		,	
being/on bel	nalf of: <u>Se</u>	1F			,	
a legally qua	lified candidat	e of the	iary Ha	gedorn	for Lt. C	Due mor
political part	y for the office	of: $R$	e publica	an		
	Prima					
election to b	e held on:	m	au 15H	6 2018		
	quest station t		)			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks	
	0)	see a	ttach	ed		

Attach proposed schedule with charges (if available):

 $\mathfrak{C} = \{ 1, \ldots, r \}$ 

by:	or the above described broadcast ting	ne has been furnished
and you are authorized to anno represent that this person or el	ounce the time as paid for by such p ntity is either a legally qualified cand ation of the legally qualified candidat	lidate or an
	he candidate's authorized committee	e is:
This station has disclosed to m	ne its political advertising policies, in nt, promotional and other sales pract	cluding: applicable tices (not applicable
	DISCRIMINATE OR PERMIT DISCRITHINGTY IN THE PLACEMENT OF	
Apr. 9 2018 Date	y Candidate or Authorized Co	ommittee
/	Signed By Station Representative	
Accepted Signature	Holly Johnson Printed Name	Rejected  Nati Sales Mar

townsquare

Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712 Main: (208) 344-6363

Billing:

Billing Address:

Marv Hagedorn for Lt. Governor Attention: Accounts Payable 5285 W. Ridgeside Street Meridian, ID 83646

Send Payment To:

Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-1	04/30/18	April 2018	04/01/18 - 04/30/18

Property	Account Executive	Sales Office	Sales Region
KAWO-FM	Dustin Kuck_W05540	Local Boise	Local

Advertiser		Estimate Number
Mary Hagedorn for Lt. Gov	April-May Radio Schedule	

Flight Dates	Order #	Alt Order #
04/12/18 - 05/15/18	492579	

Billing Calendar	Billing Type	Deal #	
Calendar	Cash		

Special Handling

Agency Code	Advertiser Code	Product 1/2

Summary:  Total Product								
Property	Invoice Number	Spots Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-2	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00
Boise	492579A-3	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00
Boise	492579A-4	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00
	492579C-1	39 April-May Radic	\$1,638.00	\$0.00	\$1,638.00	\$0.00	\$0.00	\$1,638.00
	492579D-1	39 April-May Radic	\$2,223.00	\$0.00	\$2,223.00	\$0.00	\$0.00	\$2,223.00
	492579B-1	39 April-May Radic	\$2,028.00	\$0.00	\$2,028.00	\$0.00	\$0.00	\$2,028.00
Totals:	AND THE PARTY OF T	117	\$6,240.00	\$0.00	\$6,240.00	\$0.00	\$0.00	\$6,240.00

Net Due upon Receipt

Net Total

\$6,240.00

Invoice Balance as of 05/11/18 9:56:11 AM MT

\$0.00

Invoice Detail:		Product						
Property I	Invoice Number	Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise 4	492579A-2	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00

	O-FM		_	Imps/Plays		Clicks/Plays	Data	D-4- T	Tatal Assessed
Line	Start Date	End Date	Description	Booked	Imp. Delivered	Delivered	Rate	Rate Type	Total Amount
3	3 04/23/18	04/27/18	:30 Audio Spot (CPP)	15	114	16	\$3.00	CPP	\$45.00
	04/12/18	04/13/18	:30 Audio Spot (CPP)	6	52	6	\$3.00	CPP	\$18.00
	04/30/18	05/04/18	:30 Audio Spot (CPP)	15	5 74	3	\$3.00	CPP	\$9.00

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-1	04/30/18	April 2018	04/01/18 - 04/30/18

Advertiser	Product	Estimate Number
Marv Hagedorn for Lt. Gov	April-May Radio Schedule	

KAWO-	-FM			Imps/Plays		Clicks/Plays			
Line S	Start Date	End Date	Description	Booked	Imp. Delivered	Delivered	Rate	Rate Type	Total Amount
2 0	04/16/18	04/20/18	:30 Audio Spot (CPP)	15	213	15	\$3.00	CPP	\$45.00

Invoid	e Detail:	Product						
Property	/ Invoice Number	Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-3	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00

KIDO-AM Line Start Date	End Date	Description	Imps/Plays Booked	Imp. Delivered	Clicks/Plays Delivered	Rate	Rate Type	Total Amount
7 04/16/18	04/20/18	:30 Audio Spot (CPP)	15	720	15	\$3.00	CPP	\$45.00
6 04/12/18	04/13/18	:30 Audio Spot (CPP)	6	259	6	\$3.00	CPP	\$18.00
8 04/23/18	04/27/18	:30 Audio Spot (CPP)	15	742	15	\$3.00	CPP	\$45.00
9 04/30/18	05/04/18	:30 Audio Spot (CPP)	15	229	3	\$3.00	CPP	\$9.00

Invoid	e Detail:	Product						
Property	y Invoice Number	Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-4	April-May Radic	\$117.00	\$0.00	\$117.00	\$0.00	\$0.00	\$117.00

KXLT-FM Line Start Date	End Date	Description	Imps/Plays Booked	Imp. Delivered	Clicks/Plays Delivered	Rate	Rate Type	Total Amount
11 04/12/18	04/13/18	:30 Audio Spot (CPP)	6	5 54	6	\$3.00	CPP	\$18.00
14 04/30/18	05/04/18	:30 Audio Spot (CPP)	15	5 65	3	\$3.00	CPP	\$9.00
12 04/16/18	04/20/18	:30 Audio Spot (CPP)	15	303	15	\$3.00	CPP	\$45.00
13 04/23/18	04/27/18	:30 Audio Spot (CPP)	15	5 154	15	\$3.00	CPP	\$45.00

Send Payment To:



**Townsquare Media Boise** 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-1	04/30/18	April 2018	04/01/18 - 04/30/18

Advertiser	Product	Estimate Number
Mary Hagedorn for Lt	. GoveApril-May Radio Schedule	•

Invoice Detail:	Total	Product						
Property Invoice Number		Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
KIDO-AM 492579C-1	39	April-May Radic	\$1,638.00	\$0.00	\$1,638.00	\$0.00	\$0.00	\$1,638.00

Line	Spot	# <u>Ch</u>	Day	Air Date	Air Time Description	Start/End Time	Length Ad-ID	Rate Type
1	2	KIDO	Th	04/12/18	7:21 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	1	KIDO	Th	04/12/18	10:55 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	3	KIDO	Th	04/12/18	11:54 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	6	KIDO	F	04/13/18	8:23 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	4	KIDO	F	04/13/18	10:33 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	5	KIDO	F	04/13/18	6:19 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	8	KIDO	M	04/16/18	4:26 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	7	KIDO	M	04/16/18	4:54 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	9	KIDO	M	04/16/18	5:58 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	10	KIDO	Tu	04/17/18	12:32 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	12	KIDO	Tu	04/17/18	2:31 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	11	KIDO	Tu	04/17/18	6:59 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	14	KIDO	W	04/18/18	10:05 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	13	KIDO	W	04/18/18	1:18 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	15	KIDO	W	04/18/18	3:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	16	KIDO	Th	04/19/18	8:32 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	18	KIDO	Th	04/19/18	9:30 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	17	KIDO		04/19/18	11:28 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	21	KIDO	F	04/20/18	10:33 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	19	KIDO	F	04/20/18	2:05 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	20	KIDO	F	04/20/18	4:33 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	22	KIDO	М	04/23/18	9:05 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	23	KIDO	M	04/23/18	3:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	24	KIDO	M	04/23/18	4:59 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	25	KIDO		04/24/18	1:48 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	27	KIDO	15.075	04/24/18	5:53 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	26	KIDO	Tu		6:30 PM M-F Prime Rotator	6A-7P	:30 Mary Hagedorn 2nd Amendme	\$42.00 NM
1	29	KIDO	W		9:50 AM M-F Prime Rotator	6A-7P	:30 Mary hagedorn Economic De	\$42.00 NM
1	30	KIDO	W		12:33 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	28	KIDO	W	04/25/18	4:26 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	32	KIDO		04/26/18	8:33 AM M-F Prime Rotator	6A-7P	:30 Mary Hagedorn 2nd Amendme	\$42.00 NM
1	33	KIDO		04/26/18	10:05 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	31	KIDO		04/26/18	5:24 PM M-F Prime Rotator	6A-7P	:30 Mary Hagedorn 2nd Amend M	\$42.00 NM
1	36	KIDO	F	04/27/18	11:31 AM M-F Prime Rotator	6A-7P	:30 Mary Hagedorn Veteran Cha	\$42.00 NM
1	35	KIDO	F	04/27/18	5:26 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	34	KIDO	F	04/27/18	6:05 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	38	KIDO	M	04/30/18	10:25 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	39	KIDO	M	04/30/18	12:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	37	KIDO	M	04/30/18	1:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	01	11100	101	3-7/00/10			*** **********************************	
Inve	oice	Deta	il:					
200				-	Total Product			
Prop	erty I	nvoice	Numb	oer S	pots Description Gross Total	Commission	Net Total Tax 1 Tax 2	Invoice Total

\$2,223.00

\$0.00

Send Payment To:



Invoice Detail:

KAWO-FI 492579B-1

Property Invoice Number

Total Product

Spots Description

39 April-May Radic

Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-1	04/30/18	April 2018	04/01/18 - 04/30/18

- 10 TOTALOG	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	Estimate Number
Mary Hagedorn for Lt. Gove	April-May Radio Schedule	

Line	Spot #	: Ch	Day	Air Date	Air Time Description	Start/End Time	Length Ad-ID	Rate T	Гуре
1	1	KXLT	-	04/12/18	9:19 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	3	KXLT		04/12/18	11:24 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	2	KXLT		04/12/18	3:24 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	5	KXLT	F	04/13/18	8:46 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	4	KXLT	F	04/13/18	1:53 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	6	KXLT	F	04/13/18	4:21 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	8	KXLT	M	04/16/18	10:52 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	9	KXLT	M	04/16/18	12:17 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	7	KXLT	M	04/16/18	4:22 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	11	KXLT	Tu	04/17/18	7:58 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	10	<b>KXLT</b>	Tu	04/17/18	5:51 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	12	<b>KXLT</b>	Tu	04/17/18	6:43 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	13	<b>KXLT</b>	W	04/18/18	6:45 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	14	<b>KXLT</b>	W	04/18/18	8:31 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	15	<b>KXLT</b>	W	04/18/18	5:17 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	17	<b>KXLT</b>	Th	04/19/18	7:29 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	16	<b>KXLT</b>	Th	04/19/18	10:58 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	18	<b>KXLT</b>	Th	04/19/18	4:54 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	20	<b>KXLT</b>	F	04/20/18	3:55 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	19	<b>KXLT</b>	F	04/20/18	5:20 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	21	<b>KXLT</b>	F	04/20/18	6:16 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	22	<b>KXLT</b>	M	04/23/18	10:19 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	23	<b>KXLT</b>	M	04/23/18	11:52 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	24	<b>KXLT</b>	M	04/23/18	2:25 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	27	<b>KXLT</b>	Tu	04/24/18	6:44 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	26	<b>KXLT</b>	Tu	04/24/18	8:45 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	
1	25	<b>KXLT</b>	Tu	04/24/18	1:54 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	
1	29	<b>KXLT</b>	W	04/25/18	7:16 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De		NM
1	28	<b>KXLT</b>	W	04/25/18	12:19 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M		NM
1	30	<b>KXLT</b>	W	04/25/18	4:24 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha		NM
1	32	KXLT	Th	04/26/18	7:26 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	***************************************	NM
1	33	<b>KXLT</b>	Th	04/26/18	8:32 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De		NM
1	31	KXLT	Th	04/26/18	5:19 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M		NM
1	35	KXLT	F	04/27/18	10:55 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	DESCRIPTION DOMESTIC	NM
1	36	<b>KXLT</b>	F	04/27/18	11:17 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	******************	NM
1	34	<b>KXLT</b>	F	04/27/18	1:18 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De		NM
1	39	<b>KXLT</b>	M	04/30/18	7:15 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M		NM
1	37	KXLT	M	04/30/18	7:45 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	
1	38	KXLT	M	04/30/18	2:22 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	MM

\$0.00

**Net Total** 

\$2,028.00

Gross Total Commission

\$2,028.00

Invoice Total

\$2,028.00

Tax 2

\$0.00

Tax 1

\$0.00

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-1	04/30/18	April 2018	04/01/18 - 04/30/18

Advertiser	Product	Estimate Number
Mary Hagedorn for Lt. Gov	April-May Radio Schedule	

Line	Spot #	Ch	Day	Air Date	Air Time Description	Start/End Time	Length Ad-ID	)		Rate	Type
1		KAWO		04/12/18	11:12 AM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amend M	\$52.00	NM
1	3	KAWO	Th	04/12/18	12:26 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	Veteran Cha	\$52.00	MM
1	1	KAWO	Th	04/12/18	6:47 PM M-F Prime Rotator	6A-7P	:30 Marv	наgedorn	2nd Amendme	\$52.00	NM
1	5	KAWO	F	04/13/18	8:21 AM M-F Prime Rotator	6A-7P	:30 Marv	hagedorn	Economic De	\$52.00	NM
1	4	KAWO	F	04/13/18	3:28 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amend M	\$52.00	NM
1	6	KAWO	F	04/13/18	4:21 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	Veteran Cha	\$52.00	NM
1	9	KAWO	M	04/16/18	1:43 PM M-F Prime Rotator	6A-7P	:30 Marv	наgedorn	2nd Amendme	\$52.00	NM
1	7	KAWO	M	04/16/18	4:50 PM M-F Prime Rotator	6A-7P	,	=	Economic De	\$52.00	
1	8	KAWO	M	04/16/18	5:49 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amend M	\$52.00	
1	12	KAWO	Tu	04/17/18	10:27 AM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	11	KAWO	Tu	04/17/18	2:43 PM M-F Prime Rotator	6A-7P			2nd Amendme	\$52.00	
1	10	KAWO	Tu	04/17/18	3:26 PM M-F Prime Rotator	6A-7P	:30 Marv	hagedorn	Economic De	\$52.00	NM
1	14	KAWO	W	04/18/18	6:20 AM M-F Prime Rotator	6A-7P		_	2nd Amend M	\$52.00	
1	15	KAWO	W	04/18/18	11:41 AM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	13	KAWO	W	04/18/18	12:12 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amendme	\$52.00	
1	17	KAWO	Th	04/19/18	7:50 AM M-F Prime Rotator	6A-7P	:30 Marv	hagedorn	Economic De	\$52.00	
1	18	KAWO	Th	04/19/18	8:18 AM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amend M	\$52.00	
1	16	KAWO	Th	04/19/18	12:46 PM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	19	KAWO	F	04/20/18	7:21 AM M-F Prime Rotator	6A-7P			2nd Amendme	\$52.00	
1	20	KAWO	F	04/20/18	9:50 AM M-F Prime Rotator	6A-7P			Economic De	\$52.00	
1	21	KAWO	F	04/20/18	1:23 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amend M	\$52.00	
1	22	KAWO	M	04/23/18	8:02 AM M-F Prime Rotator	6A-7P		-	Veteran Cha	\$52.00	NM
1	24	KAWO	M	04/23/18	8:32 AM M-F Prime Rotator	6A-7P		- 1 <del>7</del> 48	2nd Amendme	\$52.00	
1	23	KAWO	M	04/23/18	3:29 PM M-F Prime Rotator	6A-7P			Economic De	\$52.00	
1	25	KAWO	Tu	04/24/18	11:25 AM M-F Prime Rotator	6A-7P			2nd Amend M	\$52.00	
1	27	KAWO	Tu	04/24/18	12:29 PM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	26	KAWO	Tu	04/24/18	4:48 PM M-F Prime Rotator	6A-7P			2nd Amendme	\$52.00	
1	30	KAWO	W	04/25/18	7:05 AM M-F Prime Rotator	6A-7P			Economic De	\$52.00	
1	29	KAWO	W	04/25/18	8:22 AM M-F Prime Rotator	6A-7P	19.505		2nd Amend M	\$52.00	
1	28	KAWO	W	04/25/18	1:41 PM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	31	KAWO	Th	04/26/18	7:52 AM M-F Prime Rotator	6A-7P		A 170	2nd Amendme	\$52.00	
1	32	KAWO	Th	04/26/18	9:53 AM M-F Prime Rotator	6A-7P		_	Economic De	\$52.00	NM
1	33	KAWO	Th	04/26/18	5:48 PM M-F Prime Rotator	6A-7P			2nd Amend M	\$52.00	
1	36	KAWO	F	04/27/18	6:40 AM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	35	KAWO	F	04/27/18	12:29 PM M-F Prime Rotator	6A-7P	.00		2nd Amendme	\$52.00	
1	34	KAWO	F	04/27/18	1:26 PM M-F Prime Rotator	6A-7P			Economic De	\$52.00	
1	39	KAWO	M	04/30/18	6:06 AM M-F Prime Rotator	6A-7P			2nd Amend M	\$52.00	
1	38	KAWO	M	04/30/18	8:49 AM M-F Prime Rotator	6A-7P			Veteran Cha	\$52.00	
1	37	KAWO	M	04/30/18	2:24 PM M-F Prime Rotator	6A-7P	:30 Marv	Hagedorn	2nd Amendme	\$52.00	NIVI

townsquare

Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712 Main: (208) 344-6363

Billing:

Billing Address:

Marv Hagedorn for Lt. Governor Attention: Accounts Payable 5285 W. Ridgeside Street Meridian, ID 83646

Send Payment To:

Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-2	05/31/18	May 2018	05/01/18 - 05/15/18

 Property
 Account Executive
 Sales Office
 Sales Region

 KAWO-FM
 Dustin Kuck
 Local Boise
 Local

Advertiser Product Estimate Number

Marv Hagedorn for Lt. Gove April-May Radio Schedule

Flight Dates Order # Alt Order # 04/12/18 - 05/15/18 492579

Billing Calendar Billing Type Deal #
Calendar Cash

Special Handling

Agency Code Advertiser Code Product 1/2

Summ	ary:	T-4-1	Destart						
Property	Invoice Number		Product Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-6		April-May Radic	\$99.00	\$0.00	\$99.00	\$0.00	\$0.00	\$99.00
Boise	492579A-7		April-May Radic	\$99.00	\$0.00	\$99.00	\$0.00	\$0.00	\$99.00
Boise	492579A-8		April-May Radic	\$96.00	\$0.00	\$96.00	\$0.00	\$0.00	\$96.00
	492579C-2	33	April-May Radic	\$1,386.00	\$0.00	\$1,386.00	\$0.00	\$0.00	\$1,386.00
	492579D-2		April-May Radic	\$1,881.00	\$0.00	\$1,881.00	\$0.00	\$0.00	\$1,881.00
	492579B-2		April-May Radic	\$1,716.00	\$0.00	\$1,716.00	\$0.00	\$0.00	\$1,716.00
Totals:		99		\$5,277.00	\$0.00	\$5,277.00	\$0.00	\$0.00	\$5,277.00

Net Due upon Receipt

5 05/07/18

05/11/18

:30 Audio Spot (CPP)

Net Total

16

\$5,277.00

Invoice Balance as of 06/21/18 3:16:25 PM MT

\$0.00

\$3.00 CPP

	Detail: Invoice Number	Product Description	Gross Total	Commiss	sion N	let Total	Tax 1	Tax 2		Invoice Total
Boise	492579A-6	April-May Radic	\$99.00	\$	0.00	\$99.00	\$0.00	\$0.00		\$99.00
KAWO-FM Line Start	Date End Date	Description	Imps/F Booke	•	o. Delivered	Clicks/Pl		Rate	Rate Type	Total Amount
4 04/30	0/18 05/04/18	:30 Audio Spot (CPP)		15	59		12	\$3.00	CPP	\$36.00
18 05/14	4/18 05/15/18	:30 Audio Spot (CPP)		6	92		6	\$3.00	CPP	\$18.00

15

279

\$45.00

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-2	05/31/18	May 2018	05/01/18 - 05/15/18

Advertiser	Product	Estimate Number
Mary Hagedorn for Lt. C	SoveApril-May Radio Schedule	

KAWO-FM Imps/Plays Clicks/Plays

Line Start Date End Date Description Booked Imp. Delivered Delivered Rate Type Total Amount

Invoice Detail:		Product						
Property	y Invoice Number	Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-7	April-May Radic	\$99.00	\$0.00	\$99.00	\$0.00	\$0.00	\$99.00

KI	DO-AM			Imps/Plays		Clicks/Plays			
Lir	ne Start Date	End Date	Description	Booked	Imp. Delivered	Delivered	Rate	Rate Type	Total Amount
	10 05/07/18	05/11/18	:30 Audio Spot (CPP)	15	686	15	\$3.00	CPP	\$45.00
	9 04/30/18	05/04/18	:30 Audio Spot (CPP)	15	464	12	\$3.00	CPP	\$36.00
	17 05/14/18	05/15/18	:30 Audio Spot (CPP)	6	260	6	\$3.00	CPP	\$18.00

Invoid	e Detail:	Product						
Property	y Invoice Number	Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
Boise	492579A-8	April-May Radic	\$96.00	\$0.00	\$96.00	\$0.00	\$0.00	\$96.00

KXLT-FM			Imps/Plays		Clicks/Plays			
Line Start Date	End Date	Description	Booked	Imp. Delivered	Delivered	Rate	Rate Type	Total Amount
16 05/14/18	05/15/18	:30 Audio Spot (CPP)	6	67	6	\$3.00	CPP	\$18.00
14 04/30/18	05/04/18	:30 Audio Spot (CPP)	15	134	12	\$3.00	CPP	\$36.00
15 05/07/18	05/11/18	:30 Audio Spot (CPP)	15	207	14	\$3.00	CPP	\$42.00

Invoice Detail:	Total Product						
Property Invoice Number	Spots Description	<b>Gross Total</b>	Commission	Net Total	Tax 1	Tax 2	Invoice Total
KIDO-AM 492579C-2	33 April-May Radic	\$1,386.00	\$0.00	\$1,386.00	\$0.00	\$0.00	\$1,386.00

Line Spot # Ch Day Air Date

Air Time Description

Start/End Time

Length Ad-ID

Rate Type

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-2	05/31/18	May 2018	05/01/18 - 05/15/18

Advertiser	Product	Estimate Number
Marv Hagedorn for Lt. Gov	April-May Radio Schedule	

Line	Spot	# Ch	Day Air Date	Air Time Description	Start/End Time	Length Ad-ID	Rate Type
1	41	KIDO	Tu 05/01/18	9:30 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	42	KIDO	Tu 05/01/18	10:50 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	40	KIDO	Tu 05/01/18	6:49 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	45	KIDO	W 05/02/18	8:36 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	44	KIDO	W 05/02/18	9:49 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	43	KIDO	W 05/02/18	6:20 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	48	KIDO	Th 05/03/18	1:33 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	47	KIDO	Th 05/03/18	2:30 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	46	KIDO	Th 05/03/18	5:26 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	51	KIDO	F 05/04/18	6:50 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	50	KIDO	F 05/04/18	10:05 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$42.00 NM
1	49	KIDO	F 05/04/18	2:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	53	KIDO	M 05/07/18	12:30 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	54	KIDO	M 05/07/18	2:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	52	KIDO	M 05/07/18	3:05 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	55	KIDO	Tu 05/08/18	12:48 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$42.00 NM
1	57	KIDO	Tu 05/08/18	2:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	56	KIDO	Tu 05/08/18	4:24 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	58	KIDO	W 05/09/18	1:46 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	59	KIDO	W 05/09/18	3:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$42.00 NM
1	60	KIDO	W 05/09/18	5:58 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	62	KIDO	Th 05/10/18	7:50 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	61	KIDO	Th 05/10/18	12:05 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	63	KIDO	Th 05/10/18	3:32 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$42.00 NM
1	65	KIDO	F 05/11/18	6:56 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	66	KIDO	F 05/11/18	4:53 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	64	KIDO	F 05/11/18	5:23 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	68	KIDO	M 05/14/18	9:32 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$42.00 NM
1	67	KIDO	M 05/14/18	12:46 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM
1	69	KIDO	M 05/14/18	1:31 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$42.00 NM
1	72	KIDO	Tu 05/15/18	10:31 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$42.00 NM
1	71	KIDO	Tu 05/15/18	1:05 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$42.00 NM
1	70	KIDO	Tu 05/15/18	2:47 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$42.00 NM

Invoice Detail:	Total Product						
Property Invoice Number	Spots Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
KXLT-FM 492579D-2	33 April-May Radic	\$1,881.00	\$0.00	\$1,881.00	\$0.00	\$0.00	\$1,881.00

Line	Spot :	# <u>Ch</u>	Day Air	ir Date	Air Time Description	Start/End Time	Length Ad-ID	Rate T	Гуре
1	42	<b>KXLT</b>	Tu 05	5/01/18	9:54 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	40	<b>KXLT</b>	Tu 05	5/01/18	2:20 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	41	<b>KXLT</b>	Tu 05	5/01/18	3:20 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	43	<b>KXLT</b>	W 05	5/02/18	6:44 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	45	<b>KXLT</b>	W 05	5/02/18	8:28 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM
1	44	<b>KXLT</b>	W 05	5/02/18	4:25 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$57.00	NM
1	46	<b>KXLT</b>	Th 05	5/03/18	7:28 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$57.00	NM
1	47	<b>KXLT</b>	Th 05	5/03/18	10:23 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$57.00	NM
1	48	<b>KXLT</b>	Th 05	5/03/18	5:56 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$57.00	NM

We warrant that the actual broadcast information shown on this invoice was taken from the program log.

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-2	05/31/18	May 2018	05/01/18 - 05/15/18

Advertiser	Product	Estimate Number
Mary Hagedorn for Lt. Gov	April-May Radio Schedule	

1 50 KXLT       F 05/04/18       9:19 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amend M         1 49 KXLT       F 05/04/18       11:53 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       Veteran Cha         1 51 KXLT       F 05/04/18       6:43 PM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amendme         1 54 KXLT       M 05/07/18       6:54 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amend M         1 53 KXLT       M 05/07/18       7:55 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amend M         1 52 KXLT       M 05/07/18       3:56 PM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       Economic De         1 56 KXLT       Tu 05/08/18       6:42 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       Lt. Governo         1 57 KXLT       Tu 05/08/18       11:20 AM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amend M         1 57 KXLT       Tu 05/08/18       3:19 PM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       2nd Amend M         1 58 KXLT       W 05/09/18       4:57 PM M-F Prime Rotator       6A-7P       :30 Marv Hagedorn       Lt. Governo         1 58 KXLT       W 05/09/18       5:53 PM M-F Prime Rotator <t< th=""><th>Rate Type</th></t<>	Rate Type
1 51 KXLT F 05/04/18 6:43 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 54 KXLT M 05/07/18 6:54 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 53 KXLT M 05/07/18 7:55 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 52 KXLT M 05/07/18 3:56 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn Economic De 1 56 KXLT Tu 05/08/18 6:42 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn Lt. Governo 1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme	\$57.00 NM
1 54 KXLT M 05/07/18 6:54 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 53 KXLT M 05/07/18 7:55 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 52 KXLT M 05/07/18 3:56 PM M-F Prime Rotator 6A-7P :30 Marv hagedorn Economic De 1 56 KXLT Tu 05/08/18 6:42 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn Lt. Governo 1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn Economic De	\$57.00 NM
1 53 KXLT M 05/07/18 7:55 AM M-F Prime Rotator 1 52 KXLT M 05/07/18 3:56 PM M-F Prime Rotator 1 56 KXLT Tu 05/08/18 6:42 AM M-F Prime Rotator 1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 2 6A-7P 30 Marv Hagedorn Lt. Governo 30 Marv Hagedorn 2nd Amend M 31 Marv Hagedorn Lt. Governo 32 Marv Hagedorn 2nd Amend M 33 Marv Hagedorn 2nd Amend M 34 Marv Hagedorn 2nd Amend M 35 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 36 Marv Hagedorn 2nd Amend M 36 Marv Hagedorn Economic De	\$57.00 NM
1 52 KXLT M 05/07/18 3:56 PM M-F Prime Rotator 6A-7P :30 Marv hagedorn Economic De 1 56 KXLT Tu 05/08/18 6:42 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn Lt. Governo 1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme	\$57.00 NM
1 56 KXLT Tu 05/08/18 6:42 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Lt. Governo 1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amend M 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amendme 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Economic De	\$57.00 NM
1 55 KXLT Tu 05/08/18 11:20 AM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M 1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amendme 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Marv hagedorn Economic De	\$57.00 NM
1 57 KXLT Tu 05/08/18 3:19 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amendme 1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Mary hagedorn Economic De	\$57.00 NM
1 60 KXLT W 05/09/18 4:57 PM M-F Prime Rotator 6A-7P :30 Mary hagedorn Economic De	\$57.00 NM
	\$57.00 NM
1 58 KXLT W 05/09/18 5:53 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Lt. Governo	\$57.00 NM
	\$57.00 NM
1 59 KXLT W 05/09/18 6:46 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amend M	\$57.00 NM
1 63 KXLT Th 05/10/18 10:24 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amendme	\$57.00 NM
1 61 KXLT Th 05/10/18 3:57 PM M-F Prime Rotator 6A-7P :30 Mary hagedorn Economic De	\$57.00 NM
1 62 KXLT Th 05/10/18 6:42 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Lt. Governo	\$57.00 NM
1 64 KXLT F 05/11/18 10:51 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amend M	\$57.00 NM
1 66 KXLT F 05/11/18 2:18 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amendme	\$57.00 NM
1 65 KXLT F 05/11/18 5:25 PM M-F Prime Rotator 6A-7P :30 Mary hagedorn Economic De	\$57.00 NM
1 67 KXLT M 05/14/18 7:15 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Lt. Governo	\$57.00 NM
1 68 KXLT M 05/14/18 11:50 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amend M	\$57.00 NM
1 69 KXLT M 05/14/18 1:20 PM M-F Prime Rotator 6A-7P :30 Mary Hagedorn 2nd Amendme	\$57.00 NM
1 70 KXLT Tu 05/15/18 6:42 AM M-F Prime Rotator 6A-7P :30 Mary hagedorn Economic De	\$57.00 NM
1 71 KXLT Tu 05/15/18 7:17 AM M-F Prime Rotator 6A-7P :30 Mary Hagedorn Lt. Governo	\$57.00 NM
1 72 KXLT Tu 05/15/18 5:50 PM M-F Prime Rotator 6A-7P :30 Marv Hagedorn 2nd Amend M	\$57.00 NM

Invoice Detail:	Total Product						
Property Invoice Number	Spots Description	Gross Total	Commission	Net Total	Tax 1	Tax 2	Invoice Total
KAWO-FI 492579B-2	33 April-May Radic	\$1,716.00	\$0.00	\$1,716.00	\$0.00	\$0.00	\$1,716.00

Line	Spot #	<u>Ch</u>	Day	Air Date	Air Time Description	Start/End Time	Length Ad-ID	Rate T	ype
1	42	KAWO	Tu	05/01/18	6:22 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	40	KAWO	Tu	05/01/18	3:09 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	MM
1	41	KAWO	Tu	05/01/18	6:48 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$52.00	NM
1	43	KAWO	W	05/02/18	7:51 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	44	KAWO	W	05/02/18	10:26 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	MM
1	45	KAWO	W	05/02/18	11:25 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	46	KAWO	Th	05/03/18	9:39 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$52.00	NM
1	48	KAWO	Th	05/03/18	10:28 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	47	KAWO	Th	05/03/18	4:49 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	51	KAWO	F	05/04/18	7:17 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	49	KAWO	F	05/04/18	1:29 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Veteran Cha	\$52.00	NM
1	50	KAWO	F	05/04/18	3:45 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	52	KAWO	M	05/07/18	6:03 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	53	KAWO	M	05/07/18	7:37 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	54	KAWO	M	05/07/18	9:53 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	55	KAWO	Tu	05/08/18	8:35 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$52.00	NM
1	57	KAWO	Tu	05/08/18	11:29 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	56	KAWO	Tu	05/08/18	6:47 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM

We warrant that the actual broadcast information shown on this invoice was taken from the program log.

Send Payment To:



Townsquare Media Boise 827 E. Park Blvd Suite 100 Boise, ID 83712

Invoice #	Invoice Date	Invoice Month	Invoice Period
492579-2	05/31/18	May 2018	05/01/18 - 05/15/18

Advertiser	Product	Estimate Number
Marv Hagedorn for Lt. Gov		

Line	Spot #	<u>Ch</u>	Day	Air Date	Air Time Description	Start/End Time	Length Ad-ID	Rate	Гуре
1	59	KAWO	W	05/09/18	9:36 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	60	KAWO	W	05/09/18	4:49 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$52.00	NM
1	58	KAWO	W	05/09/18	5:22 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	61	KAWO	Th	05/10/18	11:10 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	62	KAWO	Th	05/10/18	2:30 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	63	KAWO	Th	05/10/18	4:52 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$52.00	NM
1	64	KAWO	F	05/11/18	12:30 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	66	KAWO	F	05/11/18	1:28 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	65	KAWO	F	05/11/18	5:48 PM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	67	KAWO	M	05/14/18	10:25 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$52.00	NM
1	68	KAWO	M	05/14/18	11:45 AM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM
1	69	KAWO	M	05/14/18	6:48 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amendme	\$52.00	NM
1	70	KAWO	Tu	05/15/18	7:20 AM M-F Prime Rotator	6A-7P	:30 Marv hagedorn Economic De	\$52.00	NM
1	72	KAWO	Tu	05/15/18	1:26 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn Lt. Governo	\$52.00	NM
1	71	KAWO	Tu	05/15/18	5:48 PM M-F Prime Rotator	6A-7P	:30 Marv Hagedorn 2nd Amend M	\$52.00	NM